I L 29 F E 12 A 1 &8 ¥ & % BRTUERN SR
33 4= 3 = 3 4= E % % i H:‘*-f ﬁ
5| =R ® ] 1T = ® A 1T S TE 2% | 3545 | 56 65 HE
MOBENH ERHHBLOXIFZZE(1F) RE
1| & | B854 Sig 5 5 5 6 6 6 1
2 | = E6IELEAE - RMBERATAER
3|8 E6ELEAE-ANKEAERE
BEES | - BESH
4R gag XHURRIE kB 5|5 5|5 |5 | 5|2
W | EREE P o~ BAEX
5 K (Eron) |BAERSHE (PR HHEAEARER ey 5 5 6 6 6 6 3
EES ~ = o e o | BARIMK AIE-FMKEHARZEH
6 | Kk 5%&% XPTAREEES FER oo placEEES = 5 6 6 6 6 6 4
BAEKX |4 o e - 1
7| K| Spgax RRHAERR FHPTA FHRPTA 5 5 5 6 6 6 5
. - TEEE =l
8 | & | Ahdl BHAERETHE 21AHE 5 5 5 5 6 6 6
b I s .
9| +%&Fag>ﬂ% TEFEA BHEE (6FEQRH) 3 3 3 3 3 3
10| A
B | = BRE
A | ggz XHLRR2E 18178 5 5 5 5 5 5 7
. | BmEs EHE | SRS
12| K| Cazs) FEL |BAEHERHER s |5 616l 6| 6|8
i R i O S T = S I
13| K| B E FER 5 |5 |5 |5 |5 |5 |°9
1
" =5 FH K
14| K| BRE |757F8H0 XE&EXLA £ 5 5 5 5 6 6 6 10
o FH R -1
15| €| B&H £ B 5 5 5 5 6 6 11
16| £ FELEFRNA
17| B REDH
BEHR |, 5 FH KR
18| A T XhALIRBR3E = 5 5 5 5 5 5 12
e = FH KR
19| X | BRE E N 5 5 6 6 6 6 13
N 2 8 %
20| K| BB B 5 6 6 6 6 6 14
" % K
21| K| BB B £ 0B 5 5 5 5 6 6 15
- ] o -1 -1 -1 -2 -2 -2
22| & BEZS 2R ENX KRR BERE 4 4 4 4 4 4
23| 234ER
24| B
25| A HERR BEWE O&FEHEEEER)
26| X
27| 7k
28| K TEMD F12EZFETAE RS EARASBAFES
29| &
30|
31| 8
8 T F & 14 | 2% | 3% | 4% | 5% | 65 wOoEE B R 83 86 89 93 96 96
fiE | 17 & | #REX, KRR 2 2 2 2 2 2 R HE OB OB B -1 -2 -2 -3 -3 -3 15
E B 2 B ¥ 82 84 87 90 93 93
S i 3 il £ F B £ %
FERIEH5-65F (RED) REEEF
| % OHRAIART—ITDOVVTERLS
£EBE
OBENILHEATITEILELS

o)
o
IS
IS
IS
IS
IS
IS




